Y6 Home Learning Pack

Miss Ellison’s Maths Group Revision
of Learning




Multiplication using long multiplication - choose your chilli level and complete the questions.

26 87 350 714

| x4 x 8 N ) x 7
56 39 270 824

x 64 x 83 x 13 x 70

4,256 8,973 1,702 6,847
x 6 x 7 x 40 x 62




Multiplication using long multiplication.

Which calculation is correct? You are going to make 345
cookies to share with your
neighbours during social
distancing. Each cookie needs
A. 217163 B. 13|14 |7 chocolate chips.
X 2 1 X 6 2 How many chocolate chips will
you need altogether?
2 7 6 3 2 6 2 8
!15 ? 2 6 0 6 8 g 4 0
5 8 0 2 3 7 1 4 6 8
1 1 1 1
~ p Add >, < or = to make these
-~ statements cormrect.
e | . . 341 2
| am thinking of a 4-digit number less than 2,000. 1 Te 47,500
X

= | < Only two of the digits in my number are greater

| than 3.If  multiply my number by 13,1 get an 1 9 3 &
answer between 20,000 and 25,000. 60,016 O X 31

What could my number be?
Is there more than one possibility? 7124 x 19 Q 2213 x 72




Division using short division (bus stop method) - choose your chilli level and complete the

questions.

L Q

725 +- 5 =
128 - 4 =
232 -8 =
288 + 3 =

PWPE

6,036 - 12 =
1,260 =+ 28 =
3,648 - 57 =
6,375 - 75 =

O

Top Tip: What multiples can
help you solve it?

1. 3,421 + 14 =
2., 7,052 + 25 =
3. 5,555 +43 =
4. 9,471 + 68 =




Division using short division (bus stop method).

The following calculation is correct.
True or false?

0 8 3 0
9|7 4 %27 8

| know I've made a mistake in this
equation but | can’t work out where.
Can you help me fix it? Where did |
go wrong!

0O 2 0 2

r8

A limousine company can fit 14 in a
limousine. There are 399 children in our
school going to the end of year party - how

many limousines will Mrs Ashley need to
book!?

1 8(3 % 45

“Use short division to complete the
calculations below.

A.5168+17=
B.2,948 + 14 =

C.6,484+18=

Circle the answers greater than 300.




Negative number in context.

The Rules: -
It can all be put into two rules: + —
Rule Example o + _,
+(+) 34(+2)=3+2=5
Two like signs become a positive sign
-(-) 6-(-3)=6+3=9 -
+(-) o 7+(-2)=7=-2=5 s
Two unlike signs become a negative sign C_J S -
-(+) 8-(+2)=8-2=6 o

Complete these number sentences.

Complete the number line.

e

a

| | | Kiri had £21.50 in her bank account. She spends £30.50 on a
new dress. What is her new bank balance?

-

8-10= }




Negative number in context.

Use the cards below to complete the magic square. Each row and column add up

When counting in tens from any single to 0.
digit, the last number never changes.

When counting back in tens from any
single digit, the last number does

change. 0

eg

9,19, 29, 39
9, -1, -1, -21

ENENENENINENENE

Is there more than one way to complete the magic square?

Explain why this happens.

. A

Use the digit cards to create a calculation
| have £30 to spend on food to stock which equals -| 8.
up for the next couple of weeks.
Luckily, | manage to get hold of the

essentials (pasta and toilet roll!), and |
end up at -£6,49. How much did | 2 8 0 | 3
spend on food?




Use common factors to simplify fractions.

1 1
2 2
1 1 1
3 3 3
1 1 1 1
r r r i
1 1 1 1 1
5 5 5 5 5
1 1 1 1 1 1

- - - - - -

1 1 1 1 1 1 1

7 7 7 7 7 7 7

1 1 1 1 1 1 1 1

8 5 8 8 8 8 8 8
1 1 1 1 1 1 1 1 1
B s E B B 9 B S B

- = = = = = = = i -
10 10 10 10 10 10 10 10 10 10
| —— —
| —— —

|

7 is a common

factor
of 7 and 35.

1,2,3,4,6,8,
|2 and 24 are
all common
factors of 24
and 144.
Why did |
choose to
divide by 24!




Use common factors to simplify fractions.

N "l.

150

C.

é 160 8

18

S

| think that two fifths in its simplest Always, sometimes, never?

form is | over 2.5,
Am | right? To simplify a fraction you divide by 2

until you can't divide by 2 anymore.




Add and subtract fractions with common denominators that total >1.

4 6 | [ 9 2
12 T2 T |4 T2aa T8 T
20 15 12 _ 5 , 3 _
30 60 30 8 16
12 3 19 5 4 _
20 10 21 42 7
66 16 11 _ 8 3 _
99 ~ 66 33 15 ~ 45




Add and subtract fractions with common denominators that total >1.

Complete the part-whole mSUEE Complete the addition related to the image.

Can you complete the calculation using
+ - ? the same digit?
-

Give your answer in its simplest form.

, o . . Which calculation is the odd one out?
I’m not sure if I've answered this question

correctly... am | right or wrong? Can you
explain why?

3 I 4 B. %+%
— = —
6 15 2I s

A.




Convert metric units: length, mass and volume.

What units of
volume do you
know!?

What units of
mass do you
know!?

What units of
length do you
know!?

If we know that one bottle of lemonade has volume of 1 litre, make Match the most accurate estimates to
estimates for the following: the item.
a bath 4 . |
1 metre high
a sink /
a can of drink weighs 6g
a cup of coffee - ’ e

weighs ékg ’ ‘

I'm estimating how much water I'll need to fill
, my bath. | think it will be 80ml, but Miss Gibson

thinks it will be 80I.
Who is more likely to be right?




Convert metric units: length, mass and volume.

+100 +1000
millimetre (mm) centimetre (cm) metre (m) kilometre (km)
milligram (mg) centigram (cg) gram (g) kilogram (kg)
millilitre (ml) centilitre (cl) litre (l) kiloletre (kl)
x100 x1000
4cm
Length /\ /\
40mm C |
/\ 60g /\ omp ete some
Mass more of these
60,000kg .
conversions.
/\ /\ oKl
Volume

2,000,000ml



Measure area and perimeter of quadrilaterals.

added together ke

.
i
I
) .

Three children are given the same shape
to draw.

Kate says, “The smallest length is 2 cm.” 8cm
Lucy says, “The area is less than 30 cm®
Ash says, “The perimeter is 22 cm.”

What could the shape be?

10cm

4cm




Measure area and perimeter of quadrilaterals.

You may need to

- S s 1120 do conversions to
e area of this shape is cm-<, '
Work out the missing width. answers:
7cm
Drew draws two equal rectangles.
3cm 3cm
T1cm 11cm
?mm He puts them together to make a new shape.
70mm
3cm
Using the correct formulae, find the
area and perimeter of the new
shape.

| think a rectangle will always have a different
area and perimeter.
Can you help me prove it? Am | right?




